
 

Controller Option and Other Option 
 
PostScript3 Unit Type M2     (D719) 
IPDS Unit Type M2      (D719) 
OCR Unit Type M2      (D166) 
SD card for NetWare printing Type M2   (D719) 
Browser Unit Type M2      (D719) 
Optional Counter Interface Unit Type A  (B870) 
Data Overwrite Security Unit Type H  (D377) 
IEEE 1284 Interface Board Type A    (B679) 
Copy Data Security Unit Type G    (D640) 
File Format Converter Type E    (D377) 
Bluetooth Interface Unit Type D    (D566) 
IEEE 802.11a/g/n Interface Unit Type M2   (D164) 
Copy Connector Type 3260     (B328) 
Smart Card Reader Built-in Unit Type M2  (D739) 
Key Counter Bracket Type1027    (B452) 
Tab Sheet Holder Type M2     (D750) 
Card Reader Bracket Type1075    (B498) 

 



 

PostScript3 Unit Type M2   (D719) 
IPDS Unit Type M2    (D719) 
OCR Unit Type M2    (D166) 
SD card for NetWare printing Type M2 (D719) 
Browser Unit Type M2    (D719) 
Optional Counter Interface Unit Type A (B870) 
Data Overwrite Security Unit Type H  (D377) 
IEEE 1284 Interface Board Type A  (B679) 
Copy Data Security Unit Type G  (D640) 
File Format Converter Type E   (D377) 
Bluetooth Interface Unit Type D  (D566) 
IEEE 802.11a/g/n Interface Unit Type M2 (D164) 
Copy Connector Type 3260   (B328) 
Smart Card Reader Built-in Unit Type M2 (D739) 
Key Counter Bracket Type1027  (B452) 
Tab Sheet Holder Type M2   (D750) 
Card Reader Bracket Type1075  (B498) 

 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 
 

1 Controller Options ･････ 2P

2 Other Options ･････ 4P  
 
 
 

 
March XX, 2013



 

2

PostScript3 Unit Type M2 (D719-10,11,12)

File Format Converter Type E (D377-04)

IEEE 802.11a/g/n Interface Unit Type M2 (D164-01)

Bluetooth Interfance Unit Type D (D566-01)

Copy Data Security Unit Type G (D640-41)

IEEE 1284 INterface Board Type A (B679-17)IPDS Unit Type M2 (D719-15,16,17)

OCR Unit Type M2 (D166-24,25,26)

SD card for NetWare printing Type M2 (D179-46)

Browser Unit Type M2 (D71941,42,43)

Optional Counter Interface Unit Type A (B870-11)

DataOverwriteSecurity Unit Type H (D377-06)

Copy Connector Type 3260 (B328-11)

1 2

3 4

5

6

7

8 9

101 105 106 104

10

11

12 102 103

13

14 15

16 17 107

18 19 108

20

21

22

23

 

1. Controller Options 



 

3

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D7195010 SD-CARD:PS3:EXP:ASS'Y 101 04513006N TAPPING SCREW - 3X6

2 GA003264 DECAL:PS3:I-GRAY S-BOMもれ 102 03530040N SCREW - M3X4

3 D7195015 SD-CARD:IPDS:EXP:ASS'Y 103 03530060N BIND SCREW - M3X6

4 GA003266 DECAL:IPDS_M:I-GRAY:ABS S-BOMもれ 104 11050046 HARNESS BAND

5 D1665024 SD-CARD:OCR:EXP:ASS'Y 105 11050195 PCB STUD

6 D7195046 SD-CARD:NETWARE:EXP:ASS'Y 106 11050508 HARNESS CLAMP - LWS-0711

7 D7195041 SD-CARD:MFPBROWSER:EXP:ASS'Y 107 11050688 CLAMP:KS-15

8 B8705102 PCB:MKB:AP-C1 108 16071715 FERRITE CORE - RFC-5

9 B8705510 HARNESS:IOB:MKB

10 D3770581 SD-CARD - SERVICE

11 B5955670 PCB ASSY - IEEE1284

12 B8295106 PCB:ICIB-3 機種登録もれ

13 D3775603 PCB:MLB32

14 D5665400 MODULE:BLUETOOTH:USB

15 D5667002 CD-ROM:BLUETOOTH:OI:EXP:ASS'Y

16 D1645200 PCB:WLAN-PPEM1:ASS'Y

17 D3775698 VELCRO FASTENER:COVER:ANTENNA:250

18 B3285662 PCB:COUPLING:PBF

19 B1405725 HUB:1394:REPEATER

20 B1327366 KEYTOP:MENU:NA

20 B1327367 KEYTOP:PRN-MENU

20 B1327368 KEYTOP:MENU:EU

20 B1327369 KEYTOP:PRN-MENU:EU

21 B2231533 KEYTOP:FUNCTION:NA

21 B2231539 KEYTOP:FUNCTION:EU

21 B2341574 KEYTOP:KINO_MENU:NA

21 B2341580 KEYTOP:KINO_MENU:EU

22 B3285500 CABLE:POWER:REPEATER

23 B3285503 INTERFACE CABLE

1. Controller Options

 
 



 

4

Smart Card Reader Built-in Unit Type M2 (D739-06)

Key Counter Bracket Type1027 (B452-57)

Tab Sheet Holder Type M2 (D750-01)

Card Reader Bracket Type1075 (B498-01)

1

2

3

4

106 107

7

5

6

101
101

101

8

9
8

10

102 104 11

12
13

14 103 105

 

2. Other Options 



 

5

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D7391223 COVER:UPPER:IC CARD 機種登録もれ 101 03440160F TAPPING TRUSS HEAD SCREW - M4X16

2 D7391222 COVER:IC CARD 102 04513006N TAPPING SCREW - 3X6

3 D7391224 SPONGE:20X20 103 04514020N TAPPING SCREW - M4X20

4 D7391221 COVER:FRONT:UPPER 104 04140082N BINDING SELF-TAPPING SCREW:M4X8

5 B4525868 BRACKET:KEY COUNTER HOLDER:REAR 105 04543008Q TAPPING SCREW:3X8

6 B4525869 BRACKET:KEY COUNTER HOLDER:FRONT 106 11050534 CLAMP

7 B4525100 KEY COUNTER HARNESS 107 11050688 CLAMP:KS-15

8 B4521063 PLATE NUT:KEY COUNTER HOLDER

9 B4521055 BRACKET:KEY COUNTER HOLDER:ASS'Y

10 B4521260 KEY COUNTER HOLDER COVER

11 AA143710 STEPPED SCREW - M4

12 D7507506 END FENCE:TAB:EXP:ASS'Y

13 D7507505 DECAL:END FENCE:TAB

14 B4981010 HOLDER:KEY CARD:ASS'Y 機種登録もれ

2. Other Options

 


